
Lesen Sie die Montageanleitung aufmerksam durch und beachten Sie die Hinweise bei der 
Handhabung. Bewahren Sie die Montageanleitung für eine spätere Verwendung auf.

Bestimmungsgemäße Verwendung
Das Türzusatzschloss gewährleistet einen erhöhten Objektschutz, sofern sich ein Wohnungsnutzer 

-
-

Umbauten, die nicht in dieser Montageanleitung beschrieben sind, sind nicht zulässig und führen zur 
Beschädigung dieses Produkts.

Sicherheitshinweise
WARNUNG! -

WICHTIG! 
-

Montagematerial.
WICHTIG! -

-

Schlosseinheit 
1 Schlosskasten  

2 Grundplatte

3 Gewindeschraube M5x10

4 Schraube 5x25 

Schließeinheit RS 50
5 Distanzgrundplatte  

6 Schraube 5x35

7 Rahmendübel

8 Zusatzdistanzplatte

9

10 Gewindeschraube M5x15

11

12 Gewindeschraube M5x15

Montageanleitung

Schließeinheit RS 50R
13 Sperrbügel  

14 Haltebolzen

15 Haltebolzenfeder

16 Sicherungssplint

Benötigte Werkzeuge
 
 3 mm Holzbohrer
 10 mm Steinbohrer
 
 -

waage

C1

2

4
C2

1

3

11

12
10

9
8

65

7

13

14

15

16

Türzusatzschloss RS 50 / Türzusatzschloss RS 50R

Optional (bei Verwendung 
eines Außenzylinders)

 32 - 35 mm Lochfräser
 

Mitnehmers

Entsorgung
Helfen Sie, die Umwelt zu schonen und 
entsorgen Sie das Produkt und die 
Verpackungsmaterialien entsprechend 

den lokalen Vorschriften. 

Mehr Informationen
 

http://productip.com/?f=84f9b / 
http://productip.com/?f=84f9d

Oder scannen Sie 
diesen QR-Code.

Bei Verwendung eines Außenzylinders (C1/C2)  
Messen Sie die Türblattstärke und kürzen den Mitnehmer mit einer Zange an einer der Sollbruch-

 

5 -

6 

eindrehen.
7 

-

Lieferumfang 

  Türzusatzschloss
 Montagematerial

Allgemeine Montagehinweise

-

 

NUR RS 50R

 

Montage
1 

2 
3 

-

Bei Verwendung eines Außenzylinders (C1/C2)  

-
seite ein kleines Holzbrett mit zwei Schraubzwingen. 

4 
 

Garantie
Die Garantiezeit beträgt 24 Monate. Die Garantie-

ein Problem auftreten, besuchen Sie unser Retou-

www.olympia-vertrieb.de

Olympia Business Systems Vertriebs GmbH
Zum Kraftwerk 1 - 45527 Hattingen



Read the assembly manual thoroughly and observe the information contained during installation. 
Keep the assembly manual in a safe place for future reference.

Intended Use
The additional door lock increases property security when residents are inside the respective building 
or room. Option: The installation of an outer cylinder enables the additional lock to be used on the door 
even when the user is absent. 
The additional door lock is intended for apartment and house entrance doors made of wood, steel, alu-

be available at the assembly positions or a metallic plate underlaid on the other side. 
-

scribed in the manual are not permitted and could cause the product to be damaged.

Safety Instructions
WARNING! 
packaging and protective foils. Keep the product and packaging 

IMPORTANT! Improper assembly can lead to property damage. Install the 
additional door lock as described in this assembly manual. Only use the 
assembly material supplied.
IMPORTANT! -
casionally with a dry cloth. The mechanism inside is already greased at the 
factory. During assembly, pay attention that no wood chippings or similar 
bits get into the lock cases when open.

Lock Unit
1 Lock case  

2 Base plate

3 Screw M5x10

4 Screw 5x25 

Door Lock RS 50
5 Spacer base plate

6 Screw 5x35

7 Frame dowel

8 Additional spacer plate

9 Strike plate  

10 Screw M5x15

11 Lock case

12 Screw M5x15

Assembly Manual

Door Lock RS 50R
13 Door guard  

14 Retaining bolt

15 Retaining bolt spring

16 Safety cotter pin

Tools Required
 
 3 mm wood drill
 10 mm masonry drill
 Marker, scriber
 Possibly a tape measure and 

spirit level

C1

2

4
C2

1

3

11

12
10

9
8

65

7

13

14

15

16

Lo
ck

 U
ni

t
D

oo
r 

Lo
ck

 R
S 

50
R

D
oo

r 
Lo

ck
 R

S 
50

Additional Door Lock RS 50 / Additional Door Lock RS 50R

Option (when using an 
outer cylinder)

 32 - 35 mm hole cutter
 Pliers to shorten the catch

Disposal
Help protect the environment and 
dispose of the product and packaging 
materials according to the applicable 
local regulations. 

Further Information
Further information on this product is available at 
http://productip.com/?f=84f9b 
http://productip.com/?f=84f9d

Or scan this QR code.

When using an outer cylinder (C1/C2): 
Measure the thickness of the door leaf and shorten the catch using a pair of pliers at one of the break-
ing points provided so that, when assembled, maximally 7 mm remains in the base plate. Guide the 

 

5 
6 

the 6 drill holes. Ensure you maintain the correct clearance from locks already installed. Then drill 

-

7 

8 

Scope of Delivery 

  Additional door lock
 Assembly material

General Assembly Information

the lock is to be installed as well as the frames must close properly and there must be no large gap. 
Prior to assembly, check whether the door is hinged on the right or left.
The additional door lock is preassembled for doors hinged on the left. If you want to assemble the 
additional door lock on a door hinged on the right, complete the following steps before beginning with 
the assembly work:

Remove the latch from inside of the lock case by loosening the two retaining screws, turn it 180° on 

 

RS 50R ONLY -
 

Plan the height of the additional door lock so that all users can reach the knob without any problem. 
Otherwise, we recommend an installation height of 130 cm.

Installation
1 First of all, hold the door lock unit and door lock unit at the planned assembly positions on the door. 

Both parts should be level and be at a height that the latch in the lock case can engage smoothly in 

2 
3 

the drill bit with adhesive tape.

When using an outer cylinder (C1/C2): 
Firstly, drill a hole fully through the door leaf exactly in the middle of the circle of the drilling aid. To 

outside of the door with two clamps. 

4 
 

Guarantee
The period of guarantee is 24 months. The period 
of guarantee begins on the date of purchase. It is 
essential to keep the purchase receipt and original 
packaging. If a problem occurs, please visit our 

Support section of our web site at 
www.olympia-vertrieb.de

at time of going to print: 14 ct/min., max. 42 ct/

Olympia Business Systems Vertriebs GmbH
Zum Kraftwerk 1 - 45527 Hattingen

v1.0, 11.2018

Subject to change without prior notice.


